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CZ—122—2019
FACULTY OF COMMERCE
B.Com. (Second Semester) EXAMINATION
MARCH/APRIL, 2019
FUNDAMENTALS OF STATISTICS AND MATHEMATICS

Paper 11
(MCQ+Theory)
(Monday, 25-3-2019) Time : 10.00 a.m. to 12.00 noon
Time—Two Hours Maximum Marks—40
N.B. .— (@) Attempt All questions.

(ii) Figures to the right indicate full marks.

(zi1) Use of a simple non-programmable calculator is allowed.
() §d TRA e

(i) S s g T S,

(iii) UM T WAl AU W] ARl ITuAE TE STE.

MCQ
1. Multiple Choice Questions : 10
g T
() What will be the simple interest on ¥ 6,000 at 3% p.a. for three
years ?
(A) X 540 (B) R 640
(C) T 590 (D) None of these
TALEY. 3% TWH 6,000 T T a9e W = fohal ?
(A) ¥ 540 B) T 640
(C) % 590 (D) =TT AR
@) pyy =P 100 This formula is :
2Po 9o
(A)  Laspeyre’s (B) Paasche’s
(C)  Fisher’s (D) None of these

P.T.O.
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P = 2222 100 % A oM -

ZPoQo
(A) R (B) drEd
(©) fwer (D) AR AR
Base year price and current year quantity is shown by :
(A Podo B) P19
C)  poaq D) p19q
STYREEE fReaq ST =1 ef=l 1 HIve G it ?
(A poqo B) P99
©)  poaq D) p19q
Find the discount on invoice price of ¥ 10,000 @ 5% :
(A) R 450 (B) % 510
(C) % 500 (D)  None of these
% 10,000 fRadi=n sRger 5% T g2 (3wR) fadl R ?
(A) % 450 (B) ¥ 510
(C) % 500 (D)~ TYHT TE
1 2]
A= , This is example of :
3 4
(A)  square matrix (B) column matrix
(C)  row matrix (D) diagonal matrix
1 2
s ] SIEL s o o
3 4
(A)  =ErE g (B) W &l
(C)  weRil @Ot (D) Y HROf
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1 2
(i) If A= , then 2A matrix is :
1 2
_2 1 _2 4_
(A) 2 1 (B) 559
(2 2 9 9]
©) 11 (D) P
1
ST A = , T 2A W .................. T@F{
1 2
_2 1 _2 4"
(A) 2 1 (B) e
(2 2 f9 9]
(C) 11 (D) < 4

(vii)  In how many ways can the letter of the word “SHIVA” be

arranged ?

(A) 360 (B) 240
(C) 120 (D) 180
“SHIVA”? =1 vt 18R el =1 gehl w1 Idfted ?
(A) 360 (B) 240
(C) 120 (D) 180
(vizz)  Find the value of 7p :
A 7 B) 1
) 0 (D) 5040

P.T.O.
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Tpo = Tod e :
A 7 B) 1
C 0 (D) 5040

One card is drawn from a pack of 52 playing cards. What is the probability

that card drawn is “Ace” in colour ?
A 0 (B) S
13

1
© 1 (D) 1

52 AT SENA Tah Tl ieal, A O godl TRk’ g et gy
fodt 2

1
(A) 0 (B) 13
© 1 (D) %

4

What is the probability of drawing face card in a single draw from a
pack of 52 cards ?

Ay L B S
13 (B) 13

2 4

(C) 1 (D) e}

52 TAT=AT ST Toh ol shieed™ ‘ot (TsT/ofl/f[am) den fevar=h
Turezar fadt ?

(A) i B i
13 (B) 13
(C) 3 D i
13 D) 13
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Theory
2. Construct the Fisher’s Ideal Index number of price from the following
information : 10
Community - 2012 - - eilEL -
Price | Quantity Price Quantity
A 20 8 40 6
B 50 10 60 50
C 40 15 50 15
D 20 20 20 25
Tt Aifediaed fheR=n oTesl fdens @@ :
2012 2016
i ferua AT ferma ]
A 20 8 40 6
B 50 10 60 50
C 40 15 50 15
D 20 20 20 25
Or
(feram)

A bag contains 12 black and 8 red balls. Two balls are drawn at random.
Find the probability that both balls drawn are black in colour.

T fyereia 12 @1 onfr 8 o T <. 1Rd. S 9ig. QaveRul ugd frasd,
W IR =g Hieddl VM AU HreAar e

3. Find the value of : 10
81
S T
111
@ q1-3!
HA e
81
@ Eo2)
11!
@ q1-3)
P.T.O.
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Or
(feram)
Calculate the compound interest on T 20,000 at 10% p.a. for 3 years.
20,000 TUIER T.ULE.I. 10% ANCIH 3 dud Thal@ AN HEl.
4. If : 10
7 3 8 3 2 7
A=|2 4 6,B=|1 4 6
3 5 2 2 3 1
Solve :
@) A+ B
(i) 3A + 2B
R
7 3 8 3 2 7
A == 2 4 6 5 B = 1 4: 6
3 5 2 2 3 1
et
@) A+ B
(it) 3A + 2B
Or
(feram)
Find the compound interest on the amount of ¥ 16,000 at 12% per annum
for 6 years.
16,000 TT& 12% <A 6 TEIEE! afdel THA & WhHAA TAhale TS hIa.
CZ—122—2019 6
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